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CBT Practice test model answers

External Auditing (EXA)

Practice assessment 3

Section 1

Task 1.1
[image: image2.png]Complete the following sentences and phrases from ISA 200 Overall objectives of the independent
auditor, by dragging the appropriate word to each gap.

(a) "Reasonable assurance is afan  [high level of assurance

(b) However, reasonable assurance is notafan  [absolute level of assurance.

(€) “....most of the audit evidence on which the auditor draws conclusions...... (s) [persuasive

rather than conclusive.”

(@ - __misstatements are consideredto be material f_they could reasonably be expected to influence the

economic, decisions of users

[inite moderate

[inancial




 
Task 1.2

[image: image3.png]Identify whether the following extract from an auditor's report on financial statements is a disclaimer of
liability or a iability cap by selecting the appropriate option:

“This reportis made solely o the company's members as a body, in accordance with sections 495 and 496 of
the Companies Act 2006. Our audit work has been undertaken so that we might state to the company's
members those maters we are required to state to them in an auditor's report and for no other purpose. To the
fullest extent permitted by law, we do not accept or assume responsibiltyto anyone other than the company and
the company’s members as a body, for our auditwork, for this report, or for the opinions we have formed.

[Disciaimer of iabilfy




Task 1.3
[image: image4.png]Identify whether the following statement in respect of the objectives of the International Auditing and
Assurance Standards Board (IAASB) is true or false by selecting the appropriate option.

One ofthe stated objectives of the IAASB is to serve the interests of assurance providers.





Task 1.4
[image: image5.png]Identify whether each of the following factors is likely to affect the auditor's assessment of control risk or
of inherent risk by selecting the appropriate option.

() The entity operates a formalised recrutment and training programme.

i

ol risk g

() The entity's financial statements include a number of material accounting estimates.

(€) Just before ts year end, the entity approached its bank seeking additional finance.




Task 1.5
[image: image6.png]Identify whether each of the following statements, in respect of materiality, is true or false by selecting

the appropriate option.

Statement True False

[The materialty threshold set at the planning stage of the audit
lshould be increased as auditisk increases.

[When evaluating the effect of misstatements in financial statements,
ltne auditor should consider the nature of the misstatement as well
Jas the size ofthe misstatement.





Task 1.6
[image: image7.png](a) ldentify whether the following statement, in respect of an external auditor's refiance on internal
‘controls, s true or false by selecting the appropriate option.

No matter how effective 3 client's internal conrol system, the external auditor can never dispense entirely
with substantive procedures because allinteral conrols have inherent limitations.

(b) Identify whether the external auditor is likely to place reliance or place no reliance on internal controls
in the circumstance described below by selecting the appropriate option.

A company with an effective system of internal control which includes a strong control environment and
many control activiies.





Task 1.7
[image: image8.png]For each of the following features of an accounting system, identify whether it is a control objective, risk,
or control procedure by dragging the appropriate term to the feature.

Term
[Debts are chased regularly. Control objective
[Pebts due to the company may not be recoverabe: Risk

[on a weekdy basis, all debis older than their agreed paymentterms are | Control pracedure
|chased via a phone call, email or letter, and the result of the exercise
lrecorded.





Task 1.8

[image: image9.png]For each of the following descriptions, identify the component of internal control it represents by dragging
the appropriate component to the description.

[The procedures by which transactions are initated, recorded, Information system

lprocessed, corrected and reported.

[A process to assess the effectiveness of internal control Wonitoring of controls
lperformance over time.

[The review and analysis of actual performance against Cantral activiies
lbudgets and forecasts.

‘Control environment Enttys risk assessment process,





Task 1.9

[image: image10.png]For each of the following audit procedures, identify the verification technique it represents, by dragging
the appropriate verification technique to the procedure.

[Writing to the entity's bank about year end bank balances. External confirmation

[Comparing payroll costs for the year to the prior year figures and ‘Analytical procedures
|obtaining explanations for any differences

[Discussing the net realisable value of flems in year end inventory with Inquiry
line sales director.

Inspection

Obsenvation





Task 1.10
[image: image11.png]For each of the following factors, identify whether it will result in an increase or decrease in, or have a
negligible effect on, sample size by selecting the appropriate option.

(a) An increase i tolerable misstatement.

[Decrease v

(b) An increase in the amount of misstatement the auditor expects to find n the population.

[increase v

(€) The number of sampling units in the population

[Negligiole efect |3





Task 1.11
[image: image12.png](a) For the procedure listed below, identify whether itis a test of control or a substantive procedure by
‘selecting the appropriate option.

Investigation of an increase in payroll costs which is out ofine with budgeted payroll costs.

[Substantive procedure

When conducting an audit, auditors may adopt different strategies which involve using substantive.
procedures only or a mixture oftests of control and substantive procedures.

(b) Identify the most appropriate audit strategy for the following company by selecting the appropriate
option.

Builda Ltd is a small company specialising in the building of luxury houses costing in excess of £1 million

each. The company sells between five and seven houses a year and employs one person in the accounting
function.

‘Substantive procedures only

A mixure of tests of control and substantive procedures





Task 1.12

[image: image13.png]For each of the procedures listed below, identify the type of CAAT which would be used to perform that
procedure by selecting the appropriate option.

[Ageing of inventory balances in orderto target the oldest inventory for net
Irealisable value testing.

[lgentification of indvidually material sales transactions

[Input of sales discounts in excess of pre-set percentage imits to check hat the
lsystem flags up sales invoices with such high levels of discounts.





Task 1.13

[image: image14.png]Which TWO of the following factors contribute to a strong control environment?

Management has implemented a strong set of intemal controls.

Management sees no need to issue an offcial code of conduct.

Management draws up competence levels for each job and ensures employees meet those critria.

Management has a history of risk taking.





Task 1.14

[image: image15.png]Identify whether each of the following points would appear on an internal control questionnaire or an
internal control checklist by selecting the appropriate option.

[Before signing for goods which have been delivered does the stores clerk
|check the quality ofthe goods?

[The payrollis signed before itis processed.





Task 1.15

[image: image16.png]\Which THREE of the following represent the purposes of audit working papers?

Enable members of the engagementteam to be accountable for their work.

Enable the conduct of quality control reviews and inspections

Assistthe engagement team to plan and perform the audit

‘Comply with the provisions of the UK Companies Act 2006 on working papers.





Section 2

Task 2.1
[image: image17.png]Put the three processes into the most likely correct order, first to third, by dragging the process to its
‘appropriate place in the sequence.

First Check that the goods required are in inventory.

Second Order accepted

Third [Warenouse authorisedto despatch goods





Task 2.2
[image: image18.png]Identify, for each of the following factors, whether it is likely to lead to the auditor assessing that there is.
anincrease or a decrease in control risk, by selecting the appropriate option.

[The company is run by three directors, all of whom have a marketing, not an
|accounting, background.

[All the PCs in the accounts department are protected by unique log-in passwords.
roser oo

[Inventories are held in a locked warehouse which can only be accesseaviaa
[keypad. Only warehouse employees have access to the keypad codes.





Task 2.3
[image: image19.png]Match each risk mitigated to the internal control procedure by dragging the appropriate risk to the
procedure.

[Encryption of data prior to transmission of that data.
Jover the intemet

mitigate

Unauthorised disclosure of data

[File back-up and recovery procedures

Loss of data.

Theft of hardware





Task 2.4
[image: image20.png]Identify whether each procedure is a strength or a weakness by selecting the appropriate option.

[Purchase orders are generated automatically by the company's bespoke system
[when inventory fals to a predetermined level. Only suppliers authorised by the
lpurchasing director are listed on the system

[When goods are received, Bill, the stores clerk, immediately signs the.
|accompanying despatch note and retains a copy. He then aims to checkthe
|aoods for quality and quantity by the end of that working day.





Task 2.5
[image: image21.png]Identify whether the above information appears to indicate that trade receivables and trade payables.
‘might have been under or overstated by selecting the appropriate option.

(3) Trade recsivables

(6) Trade payables





Task 2.6

[image: image22.png]Identify, for each of the objectives set out below, the population from which the sample should be chosen
by selecting the appropriate option.

(3) Obtain evidence of the completeness of the sales figure.

[Despaten notes v

(b) Obtain evidence of the occurrence of the purchases figure.

[Purchases accountentries_ g





Task 2.7

[image: image23.png]Identify, for each reconciling item, the supporting evidence to which the item should be checked by
‘selecting the appropriate option.

(3) Customer A

[Postyear-end bank statement |3

(6) Customer

[Pre year-end credit note v





Task 2.8

[image: image24.png]Set out, in a manner suitable for inclusion in the audit plan:
(i) the audit risks relating to the valuation of the packing line; and

(i) the procedures to be undertaken to ensure that the packing line is properly stated in the financial
statements.

(i) Audit risks.

Inappropriate capitalisation of items.

(Overstated if scrapped costs included.

Inappropriate useful life/depreciation rate.

May depreciate from date came into use instead of available for use.
Inappropriate allocation of overheads.

(i) Procedures
Vouch entries in asset register to:

- invoices for components

- payrolitime sheets for own labour

Ensure scrapped items not capitalised.

Inspect repairs and renewals for items which should have been capitalised.

Consider appropriateness of useful life/depreciation rate by discussion with management.
[Re-perform depreciation calculation.

Discuss basis of allocation of overheads with management and ensure reasonable.
Physical inspection of packing line.





Task 2.9

[image: image25.png]Which ONE of the following procedures would best meet the objectives of that test?

‘Obtain a wiitten representation from the directors in respect of the amount of the provision.

‘Confirm the provision to the amount at which it was setfled after the year end.

Compare the amount of the provision to other similar claims.





Task 2.10

[image: image26.png]Set out, in a manner suitable for inclusion in the audit plan, the audit procedures to be undertaken to ensure that
the amounts included in the schedule above are fairly stated.

Check opening balances to previous year's financial statements.
Check extraction of figures from nominal ledger accounts/asset register.
Vouch sample of additions to purchase invoices.

Re-perform:
[+ additions on schedule
[+ depreciation charge.

Check disposals have been removed from the asset register

Consider reasonableness of useful lives by:
- discussion with management
- review profits or losses on disposal for indication of inappropriate useful lives.

Physical inspection of a sample of items:
[+ assetto register
+ registerto asset.





Task 2.11

[image: image27.png]Which ONE of these purchase invoices should the audit junior definitely refer to his supervisor?

Araw materials invoice for an individually material sum, posted to purchases.

A purchase invoice for the managing director's new villa in Portugal, posted o plant and equipment.

Ahotel invoice for the sales director's recentrip to a sales conference, postedto selling expenses.

Apurchase invoice for stationery, postedto office expenses.





Task 2.12

[image: image28.png]Identify which of the above errors the audit junior should list to be adjusted on the schedule of errors.
prepared for his supervisor by selecting the appropriate option.

(a) Error 1

[Include on schedule of errors to be adjusted. v

(b) Emor2

[Include on schedule of errors to be adjusted. v




Task 2.13

[image: image29.png]Prepare extracts, suitable for inclusion in a report to the management of Media Ltd, which set out the possible
consequences and the recommendations you would make in respect of this matter.

(i) Consequences.

Contracts behind schedule will not be identified.
[Penalty clauses may be triggered.

Cost overruns will not be identified.

Overall losses may be incurred.

[Resulting in possible overstatement of work in progress/profits
|Adverse impact on cash flow because of overspends.

(i) Recommendations

| Communication of company policy in writing to contract managers.

[Monitoring of procedures.

Disciplinary action for breaches.

Require managers to provide progress reports on costv budget to Board on monthly basis.





Task 2.14

[image: image30.png]Identify, for each of the following situations which have arisen at two unrelated audit clients, what type of
‘modified audit opinion is appropriate for each company for the year ended 31 December 20X5 by
‘selecting the appropriate option.

(a) At31 December 20X5 Gamma Ltd was in serious financial difficuties. On 3 April 20X6 the directors put
the company into liquidation. The liquidator has indicated thatthe company's creditors can expectto
receive around 20 pence in the £1. The financial statements for the year ended 31 December 205 have
been prepared on a going concem basis.

[Aaverse opinion v

(b) At’31 December 20X5 Ray LId's trade receivables included an individually material debt due from Ban Lid
0f£50,000. On 4 April 20X6 the directors discovered that Ban Ltd had gone into administration and itis
unlikely that the debt can be recovered. The directors have refused to amend the financial statements

[uaiited opinion |3




Task 2.15

[image: image31.png]Identify which is the most appropriate action for the audit firm to take by selecting the appropriate option.

[Do notreport the matter to the police |3
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